asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7016 000 regressionm-asym sam

20000

15000

10000

5000

=5000

10000

15000

- —{186(

—14(

—12(

— 100

=30 -20 =10

_|IIII|IIII|IIII|IIII|IIII|IIII| 0

0 10 20 30
diff_bpmda¥ium

°1

| —
20000 - m m
: —s0r
15000
i [ |
10000 Nhe
5000 —
- 00
o
n 200
5000 |
10000 - 100
15000
n m
| | | 1 | | | | | | | | 1 | | | 1 | | | D
~100 50 0 50 100
diff_bpmXum
diff_ bpmlX
- I
" = _|
20000 50
B |
15000
B —{400
10000
B [ |
5000 a0t
o
- 200
5000
10000 - = 100
B [ |
15000 | m
B | | 1 | | | | | | | | 1 | | | 1 | | | D
100 50 ) 50 100
difi _bpm1Xum
diff
[ — —35(
[ m
6000 —{30(
4000 - u
- —a5(
2000 -
- —apr
0 [
i 150
~2000 [~
. 100
~4000 -
R ] 50C
-§000 — m
[ | ' N N N N N T T S T A M I A I A o
~100 50 0 50 100
diff_bpm1Xum
difL
| I
- = —10c
3000 -
_ m
2000 —80C
i [ |
1000
Z —g0r
of
400
-1000 [~
2000 — u 20(
[ m
-3000
mn

E —{18¢
20000

- " {161
15000

- —{14c
10000 |

N | | —{12(
5000

o

- m
~5000

E ]

— |
10000 : .

n u 20(
15000 m

_|IIII|IIII|IIII|IIII|IIII|IIII| ﬂ

30 20 10 ) 10 o0 0

diff bpmda¥ium

'l-

- —{18¢
6000 [~

| {141
4000

[ —{12¢
2000

ﬂ,'_

i m
~2000
~4000 - 400

L [

. 200
~B000 =

C s b b b oo b 0

30 20 10 ) 10 o0 0

diff_bpmda¥ium

difL

B I |

' - 18(
3000

- - —{16¢
2000 —14(

B [ |

B —{12(
1000 |-

- 106

ﬂ,'_

- BOC

B |
~1000 :— m BOC

N [ 400
2000 :— u

- 200
_:H}DD —l L 111 | L1 11 | I L 11 L 111 I |

_30 _

20000 - m m
B —{ 500
15000
[ [ |
10000 4
5000 —
- 00
o
- 200
-5000 |
10000 :— ] 10(
15000
- m
| 1 1 | | | 1 | | | I | | | | | | | | 1 ﬂ
~100 _50) 0 50 100
difi_bpmdaX/um
diff_bpmd4eX
- I
"=
20000 | —145t
» |
N —{400
15000 |
- —{as(
10000 —
- n
- —anc
5000
- 35(
0 - 200
5000 15¢
- 100
10000 : .
. u 500
15000 | m
B | 1 1 | | | 1 | | | I | | | | | | | | 1 ﬂ
~100 50 ) 50 100
difi_bpmdaX/um
diff_bpmd4eX
| I
[ m
6000 [~ —{30c
4000 u —35(
2000 - o
0 [
- 15(
~2000
- 100
—4000 -
B n 50C
~6000 — m
NN I N 0
~100 _50) ) 50 100
difi_bpmdaX/um
- —10c
3000
m
800

2000

1000

=1000

= 2000

=3000

B
E

“vs diff” bpm=¢

60C

400

200

OL

_bpmdeY

20000 mm {14
15000 - . s
10000
- —{10c
5000 -
O m
5000
10000 o
- 200
15000 [
B |IIII|IIII|IIIIFIIII'IIII'IIII'II ﬂ
-15|::| 100 =50 ) 50 100 150
diff_bpm12X/um
difL
- I
- m
20000 — — 14
B |
10000 |
- | —{10c
- u
sooo - M
o
5000
- m
10000 : =
B ||
15000 m
B |IIIIIIIIIlIIII|IIII|IIII|IIII|II
-15|::| 100 -50 ) 50 100 150
diff _bpm12X/um
l
- —{12¢
6000
i —10c
4000 .l
2000 8ot
- B
ﬂ,'_
~2000
—4000 |-
~B000 m
o L b b b b b b

150 -100 =50 0 50 100 150
diff_bpm12X/um

diff_

20000 E =
n — 140
15000 |-
i [ |
- — 12
10000 |—
- =
" — 100
5000
of
5000 |
10000 | -
15000
n m
IIIIIIIII|IIII|IIII|IIII|III
30 20 10 0 10 20
difi_bpmdaYium
d.
- —18(
20000
- - —150
15000 |- —1ar
10000 | —
x = = 120
5000
o
- m
5000
10000 - =
- | 200
15000 m
_IIIIIIIII|IIII|IIII|IIII|III D
_ap 20 10 ) 10 20
difi_bpmdaYi/um
diff_bpmdeY
B —15(
6000 [~ —14(
4000 [ —12(
2000 |- —[1eL
ﬂ_—
~2000
4000 - m u
i o 200
~6000 m
o b b b b b o
_ap 20 10 0 10 20
difi_bpmdaYium
diff_bpmdeY
B —
Z —15(
3000 -
- . —14¢
2000
- u —12¢
1000 = —10
of
- 1000 — n
B [
2000 — u
[ m
_EIDDD_I|II|IIII|IIII|IIII|IIII|III

y 4

-20 =10

“postpan.png

B I

' = —18(
ap00

- - — 180
2000 —14c

B [ |

B —{12(
1000 |

- W

B [ |

o

-mnn:—

N [
-E[:IDD:— =

- - 200
_:}Dnn_llll||||||||||||||||||||||||||||||| ﬂ

-150 -100 =50 1] 50 100 150
diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7016 000

diff_ bpm1X

2000

1500

1000

500

=100 =) 0 50 100
diff_bpmXum

2500

2000

1500

1000

500

=500

=1000

s
2
5
2

100
difi _bpm1Xum

diff_bpm1X

1500 —

1000

-500 —

=100 -5 0 50 100
diff_bpm1Xum

200

! 100

-100

=200

-300

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—1&0

—|24(

— 200

—18C

—16(

—{14(
12(
100
800
600
400
200
1]

—25(

— 200

150

100

500

1]

—25(

—(20(

150

100

500

o

— 200

—{18(

—16(

—{ 141

120

100

80C

60(

400

200

n I n —EE':
2000 - —0t sooo - ™
N N — 200
N — B0 N
1500 1500 — —18¢
_ — 700 _
- 0 —180
1000 | 1000 | .
: —60( - [ [ | —14(
L m n 100
0 o
N :. N BOC
500 -s00 | -
1000 | ~1000 |- 40
- m 100 " 200
- 1 EDD _I L 111 | L1 11 | L 1 11 | L 111 | L 111 I L 1 11 | ﬂ - 1 EDD [ | 1 1 | | | 1 | | | I | | | | | | | | 1 ﬂ
~30 -20 10 ) 10 20 30 -100 50 ) 50 100
diff_bpmdaYium diff_ bpmdeX/um
l l-
: —121 :
2500 - 2500 |- I I P
- —10¢ -
2000 2000
- - —{z00
1500 — u —lapr 1500 — @
- - =
1000 1000 15¢
- - -
500 = 500
- n 100
0 o
500 ~500
n - 50(
~1000 n ~1000 |
: | | I | | | I | | L1 11 | | I | | L1 1 1 I L1 11 | ﬂ : | 1 1 | | | 1 | | | I | | | | | | | | 1 ﬂ
30 20 10 ) 10 o0 0 ~100 = ) 50 100
diff bpmda¥ium diff bpmdeX/um
diff bpmdaY  diff
1500 1500 —
R - N .
- . | 1'[:": - .
1000 1000
B —eoc | m
500 500 — 150
| - N
e or 10
=500 — -500 — 500
[ - -
1000 Lov o oo g oo b a s b br v d 0 1000 T N T T N TN T N N A N NS N A N A B O 0
30 20 10 ) 10 o0 0 -100 50 ) 50 100
diff_bpmda¥ium diff bpmdaX/um
d' dlfL
300 s 300 —— —200
B B —{18(
o —{70c o
. 200¢ . 200 ¢ m e
| » - |
: - —{60( : N _ar
P00 | 100
B B —{12(
0r o 10¢
B B RO
100 [~ 100 |-
~200 ~a00 |
; ; .
~300 0

2468 s di

regressmn 1“02_83111

ff bom-

diff_bpmdeY

2000

1500

1000

500

-500

=1000

N
_1500IIIIIIIII|IIII|IIII|IIII|III

-30 20 10 0 10 20
diff_bom4eY/um

2500

2000

1500

1000

500

2

=20 =10 1] 10 20
diff_bpmday/um

diff_bpmdeY

1500 —
1000 =

500

~500 —

- [ |
[ |
1000 11 I T T I T O O I A O

=30 20 10 0 10 20
diff_bpmdaY/um

200

! 100

-100

=200

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-30 -20 =10

“postpan:png

900

80C

0L

600

100

800

100

800

800

700

600

500

2000

1500

1000

500

-500

=1000

=1500

2500

2000

1500

1000

500

-500

=1000

1500

1000

=1000

200

I 100

=100

=200

-300

— 700

~150 -100 -50 O 50 100 150
diff_bpm12X/um

—100

—1ED =100 =50 1] 50 100 150
diff_bpm1 2X/um

N — 100

~180 -100 -50 O 50 100 150
diff_bpm12X/um

— 700

101

v b b v v Panaa Ly 0
—1ED -100 =50 1] 50 100 150
diff_bpm12X/um



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7016 000 reg

diff_bpm1X

&

20000 |- - - %2 / ndf 11.28 /13
15000 - ) p0 -5.135 + 4.886
10000 |- p1 -209.2 + 0.7
5000 — Fin,_
0 — \

~5000 — a*h -

: 1
10000 | -
15000 [ i

I R T T T N N M N N NN M N N N B

~100 -50 0 50 100

20000

15000

10000

2 | ndf 9.729/13

pO 1.259 = 5.331

p1 -206.3 £ 0.8

5000

o

5000 *;j
10000
15000 S
| | | | | | | | | | | | | | | | | | | |
~100 50 0 50

diff_bpm1X

¥2 / ndf 9.867 /13

100

p0 2.409 + 2. 884

p1 73.73+0.42 +

2000 - ++1ji

of /
=000 }- {th
~4000 |- )
~6000 __| | | |
=100 -850 (1] B0 100

Z
3000 %< [ ndf 19.44 /13
po -0.5962 £ 0.3366
2000 i
pi —33.44 £ 0.05
1000 11'

=1000

=2000

/

__ _ 1=/ ndf 24.1 /36
4000 |- H ’Hi PO —0.7523 + 6.4428
) i
B im .
sooo L p1 190.1£1.2
ol
_2000 *
N #H}HJr
4000 — Jﬂhﬂ _
—ﬁﬂDD:;
ul | L1 11 | 1111 | 1 111 | 1 111 | | | I L 111 |

=30 =20 =10 0 10 20 30

dlthpmélaL

¥2 [/ ndf 21.48 /36

p0 —-1.342 + 6.121 ﬁh_
p1 2236+11 ﬁthrh{
2000 [
of
~2000 |-
~4000 | thh:ﬁw
o
6000 = 1 - }
_B000 - -
_|IIII|IIII|IIII|IIII|IIII|IIII|
30 -20  -10 0 10 20 a0
E ! ndf EE 16/ 36
po 0.1043 + 2.3662 JHH
uﬁ- 1
p1 116.5 = 0.4 ’
o
1000 |-
B #fr*
~2000 ]Ljrhﬂ*
L
- HL{
~3000 [~
TN AN AN RN AR
30 -20  -10 0 10 20 a0
7=/ ndf 23 47/ 36
p0 -0.4636 £ 1.0285
p1 0.245 +0.189
00 N“ H
| Wﬁ"” il

=100

- 200

=300

=400

.L|||||||||||||||||I|||IIIIIII
1
—_—
—_

oression’ asym sam2468°

vs diff

=

diff_bpmdeX

20000 - - %2/ ndf 10.82 /13
15000 p0  -3.356 + 4.568
10000 o1 -202.3 + 0.6
5000 1h“

~5000

10000

15000

/

20000

15000

10000

i ¥ / ndf 1247713

p0 4495 £ 5.615

p1 -183.8 £ 0.8

5000

~5000

10000

15000 -
T I T N [N T T N N T T T O B

=100 -50 1] 50 100

diff_bpmdeX

¥2 [ ndf 10.21 /13
p0 1.922+2.785
pi 72.9+0.4 _
2000 | ﬁj
=2000 ;' ijr
4000 ;
'EDDD:TF....|....|....|....|
=100 =50 0 80 100

g

- Z
3000 =/ ndf 1464 /13
p0 —0.1609 £ 0.3304
2000
p1 -31.13+£0.05
1000 T

=1000

=2000

/

“bpm-fit

diff_bpmdeY

8000 |- - %2/ ndf 33.05/ 38
6000 — | p0  -3.432 + 6.394
»
mnnE ‘r Hﬁ«hﬁ p1 -193.3 £1.2
2000 |-
of
~2000 — i
~4000 — Wﬁ}}#
~6000 [ _
B0 e
30 -20 10 0 10 20

diff_bpmdeY

%2 / ndf 38.52 /39

p0 -2.017 £ 5.930

o1 235 + 1.1 ] U

2000

= 2000

\M HW

f

= 8000 -

=4000

= 6000

=30 =20 =10 1] 10 20

diff_bpmdeY

¥2 / ndf 33.81 /39

p0 1.263 + 2.351 Hﬂ'h_
1 -
p1 117.7 0.4 *'HH
TOOo
of
= 1000 ;' _
N f;r**
2000 +
-+ *’rﬂk
~3000 Jj]l
~4000 é' _
[N TN T T T N T N T T T O O Y
=30 =210 =10 1] 10 20
Ef ndf 37.5/739
p0 -0.7317 £1.0259
p1 2.869 £ 0.190 M}H
i M {FH e T
=200 :' | i
—4ﬂU:‘
;-II I || NI B A A A | || L1 | || 111

0

_posfpan pNng

diff_bpm12X

2/ndf  39.06/36 }
p0  -4.273 +7.327 H]ﬂl + _
p1 20.21 + 0.24 ! }
— i
L -]

=2000 _— _ HLFL

=4000 1‘ f

-EHDU:;

6000

4000

2000

= 2000

=4000

~6000

;

3000

2000

1000

=1000

=2000

=150 100 =50 1] 50 100 150

- ¥2 / ndf 42.54 | 36
q p0 ~-5.911+ 7.473
fﬁ% p1 —22+0.2
mi
#{'m

+

=180 -100 =50 1] 50 100 150

¥2 / ndf 41.33/ 36

pO 1.056 £3.272

I

p1 -11.3+ 0.1

ﬁmﬂm M* _

91

600

400

200

-200

-400

=180 100 =50 1] 50 100 150

iff _ bpml12X

i} ¥= [ ndf 39.28 / 36
p0 -1.226 £1.024
p —0.4619 £ 0.0335

i

|
Wﬁw MJJ
|

| #

—15D -100 =50 1] 50 100 150



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

=

diff_bpm1X

2000 — - 1 { naf 6.971/13
: pO -1.276+1.094
1600 —
i pl —0.05735 + 016087
1000 _
500 —
N I T T T T T N T O SN T N S N B
=100 =50 0 50 100
‘,‘.{ { nadt £.299/13
pO 0.4287 = 1.0207
p1 0.08632 + 0.14997
1ol —
1000 |
500 [ H} i
II:I:— M#F -
—E-I}D-—I||||I||||I||||I||||
=100 -50 0 50 100
%2 / ndf 8.28/13
pO 0.4221+ 0.6270 -
p1 0.1061+ 0.08922
I:H.?U_—
600 |
oo - _
200 |
of I**#*—'-*#
300 III -
B 1
il AN N TN T TN N T N N NN Y TN N N NN N N A
=100 -50 0 50 100
¥ ndf 9.399 /13
po —0.1473 £ 0.2180 )
=) 0.004174 + 0.031901
50

=]
IIIIIIIIIIIIIIIIIII
=,

400 1=/ ndf 34.33 / 36
woE p0  —0.9944 + 1.0984
200
- p1 -0.2003 £ 0.2032
100 } H
E [ s et II I
b III}II it 1|

100 ] | }

200 I I _

300 -

400 -
;IIII||IIIIIIIIIIIIIIIIIIIIIIIIII
30 20 -10 O 10 20 30

diff bpmd4aY

¥Z | ndf 22,51 /36

pO 0.31056 £ 1.0256

p1 0.09705 £ 018946 i
r " | '

of | Tmemees—— ey [ ) X
: IIIIII+ * IIIIII |

100

200

-300 [
:IIII||I||||I||||I||||I||||I||||I
30 20 -10 D 10 20 30

diff bpmdaY

¥ ndf 3913/36

p0 0.2692 + 0.6293

p1 0.04784 + 0.11633 I

+ |

100 I '

.
:|I||||I||||I||||I||||I||||I||||I
30 20 -10 0 10 20 30

¥ ndi 34.09 /36

po —0.1455 + 0.2185

P 0.005801 + 0.040309

21‘e5510n reg_Sa'ﬁa'i' 4@ i

run7016 000 reg

=

diff_bpmdeX

diff_bpmdeY

300 36.26 / 36

- +
100 1.168 + 1.099

—0.01548 + 0.03587

HW L L T L

i

=100

-200

-300

1
R —

-400

||I||||I||||I||||I||||I||||I||_||I||
=150 -100 =50 0 50 100 150

diff_bpm12X

_I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

¥ { ndf 33.64 /36
pO 0.5447 + 1.0256
p1 0.02089 + 0.03358
200
100 “ i ) )
- I } -
o - IHIIIIWII
~100 | ] I “
—200

=180 -100 =50 1] 50 100 150

E

¥® { ndf 32.94 /36

250

200 p0 0.3415 + 0.6300

150 p1 —0.01061 = 0.02063

S T

| II ‘[IIIIIIWWWIWI{ | |
I

=100

-150

||I||_||I||||I||||I||||I||||I||||I||
180 =100 -850 1] B0 100 180

diff_bpm12X

[ TT]JTTTT]JTTTTJTITTTTTITITITTITTT TTTTTTTTTITITTITOTITTT
I I I I I I I I I

2000 2 | ndf 7.014/13 ¥2 I ndf 50.1/39
i p0 -1.135+1.098 pD ~0.8737 + 1.0973
1500 .
[ p1 ~0.0844 + 0.1521 p1 0.06682 + 0.20460 I
B ol I I*T-IW#W%H-IIH
1000 i I I\I II 1 # III
: -200 - I
R o
- ., 400 |-
of FW__..-II _
_E,DD_IIIIIIIIIIIIIIIIIIIII _E.DI:I-I_IIIII||||I||||I|||IIIIIIII_III
=100 =50 0 50 100 =30 =21 =10 o 10 20
dlthpH]élﬁL diff bpmdeY
12 { ndf 10.13/13 %2 | naf 59.04 / 39
p0 0.3799 +1.0243 p0 0.2696 + 1.0248
p1 0.0669 + 0.1418 p1 0.09096 + 0.19119 T
R 20 |
1000 :— ‘H}D:— I
500 I ) o HIIWIII»III I i
: S . A
= II‘hm———wM i 100 }
soo b i i ~200
_IIIIIIIIIIIIIIIIIIIII :I||IIIIIIIIIIIIIIIIIIIIIIIIIII
=100 =50 (1] 50 100 = =2 =10 ] 10 20
diff bpmdeX  diff_bpmdeY
0 -
12 / ndf 6.202 /13 - %</ ndf 60.88 / 39
250 |
p0 0.3644 + 0.6291 - - p0 0.2233 + 0.6290
200 |
pi 0.1004 = 0.0872 150 E_ p1 -0.0225 011711
BOO — x
- 100 | )
600 — x
- sof | 1l -
400 — _ B I‘N{H . H+ }
- of W H
300 = H E \I‘I t + -II'I 1 }
N -0 i
o I'Ih*r-——nﬂjr C -
- ff ~100 |
200 i . - I
I I T T T T T T N T T M N Y NN O B 180 v v v v b bv b b
=100 =50 1] 50 100 =30 =210 =10 1] 10 20
diff_bpmdeX = diff_bpmdeY
¥2 1 nol 9.637 /13 e r ¥2 | nat 40.53 /39
80
po ~0.1196 % 0.2187 - ; pO ~0.1526 + 0.2183
B0 ‘|
p1 0.006604 + 0.030108 wb —0.01828 + 0.04047
: I ' oo :
50— 1 ﬂ;— - hII+ J,IrIII | _
i 20 I
[ t I 40 [~
el —60f
: :I_IIIII||||I||||I||||I||||I||||

s diff bpm- f‘ﬁ“

-2{) =10

postpan png

¥/ ndf 25.77 /36

p0 -0.2941 + 0.2188 }

p1 0.008054 + 0.007165
- f I
o - I IIIIIIIIWIMH‘

~50

=100 —
-IIIIII-IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=150 =100 50 1] 50 100 150



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7016 000 reg

20000

15000

10000

5000

=5000

10000

15000

-50 0 50 100

diff_bpmXum

E g

20000

15000

10000

5000

=5000

10000

15000

s
2
5
2

difi _bpm1Xum

6000

4000

2000

=2000

-4000

~6000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

100

L[
g
.
Z

diff_bpm1Xum

a

3000

2000

1000

=1000

=2000

100

=3000

20000

15000

10000

5000

=5000

10000

15000

30 -20 10 0 10 20 30
diff_bpmda¥ium

diff_

20000

15000

10000

5000

~5000

10000

15000

diff_

6000

4000

2000

=2000

-4000

~6000

=30 =20 =10 1] 10 20 30
diff_bpmda/um

30 -20 10 0 10 20 30
diff_bpmda¥ium

diff

3000

2000

1000

=1000

=2000

=3000

_1

oression-asvm ST 468

20000

15000

10000

5000

=5000

10000

15000

-50 1] 50 100

diff_bpmdeXium

g g

20000

15000

10000

5000

~5000

10000

15000

.
;
.
=

diff_bpmdaX/um

6000

4000

2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

100

I'g“—
3
.
g

diff _bpmdeX/um

E

3000

2000

1000

=1000

= 2000

100

vs diff’ bpme=sca

- POS

20000

15000

10000

5000

=5000

10000

15000

-30 20 10 0 10 20
diff_bom4eY/um

diff
20000
15000

10000

5000

=30 =20 =10 1] 10 20
diff_bpmday/um

dif_bpmdeY

4000

2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

-30 20 10 0 10 20
diff_bpmdaY/um

diff_bpmdeY

3000
2000

1000

=1000

= 2000

_EIDDDIIIIIIIII|IIII|IIII|IIII|III

-20)

tpan.png

20000

15000

10000

5000

=5000

10000

15000

| 1111 I 1 111 | 1 111 | 1 111 | 1 111 | 1111 | 11
150 -100 =50 0 50 100 150
diff_bpm12X/um

°1

20000

15000

10000

5000

~5000

10000

15000

c v b by s by by g byv g g
—1ED =100 =50 0 50 100 150
diff_bpm12Xium

6000

4000

2000

=2000

~4000

= 6000

=
IIIIIIIIIIIII|III|III|III|III

plvvre bvvvar bvrrr brvra br v tvv o b
=160 =100 -850 1] 50 100 180
difi_bom12X/um

diff_bpm12X

3000

2000

1000

=1000

= 2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=3000 I|IIIIIIIIIlIIII|IIII|IIII|IIII|II

-150 -100 =50 1] 50 100 150
diff_bpm12X/um




reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7016 000

diff_ bpm1X

2000
1500
1000

500

=100 =) 0 50 100
diff_bpmXum

2500

2000

1500

1000

500

=500

=1000

s
2
5
2

100
difi _bpm1Xum

diff_bpm1X

1500 —
1000 =

500 —

-500 —

=100 -5 0 50 100
diff_bpm1Xum

200

! 100

-100

=200

-300

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—1&0

regressmn Té

2000

1500

1000

500

- 500

=1000

=1500

2500

2000

1500

1000

500

=500

=1000

1500

1000

500

=500

=1000

200

! 100

=100

=200

=300

sam 24

_lIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1 11 1 | 1111 | 1 111 | 1 11 1 | | I | I 1 111 |
20 10 0 10 20 30
diff_bpmda¥ium

3

'|||||||||||||||||||||||||||||||
-30 -20 =10 0 10 20 30
diff_bpmda¥ium

L b b b e s bl
~30 20 =10 1] 10 20 a0
difi_bomdaium

2000
1500

1000

500

~100 _50 0 50 100
diff _bpmdeX/um

2500

2000

1500

1000

500

=500

=1000

.
;
.
=

100
diff_bpmdaX/um

1500 —

1000 =

500 —

-500 —

~100 _50 0 50 100
diff _bpmdeX/um

200

! 100

=100

=200

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

“vé diff bpm-scat

di

2000

1500

1000

500

-500

=1000

= 1500

=30 =20 =10 1] 10 20

2500

2000

1500

1000

500

2

1500

1000

500

~500

= 1000

diff_bom4eY/um

=20 =10 1] 10 20
diff_bpmday/um

=30 =20 =10 1] 10 20

200

! 100

-100

=200

-300

diff_bpmdaY/um

10

ostpan.pn

2000

1500

1000

500

-500

=1000

~1500 I|IIII|IIII|IIII|IIII|IIII|IIII|II

~150 -100 -50 O 50 100 150
diff_bpm12X/um

2500

2000

1500

1000

500

-500

=1000

c v b by s by by g byv g g
—1ED =100 =50 0 50 100 150
diff_bpm12Xium

1500 —

1000 —

500

-500 —

v b b brraa o baraa L
=1000 =160 =100 -850 1] 50 100 180
difi_bom12X/um

200

I 100

=100

=200

-300

=
IIIIII|IIII|IIII|IIII|IIII|IIII|

el b by v b Panaa g
-180 -100 50 1] 50 100 150
diff_bpm12X/um




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

diff_ bpm1X

. -
1500 g - —20( 1500 [~
B —{18¢ E
1000 e 1000 [~
- 140 :
500 — 500 N
- 12( i
of 100 of
B B0 i
~500 ~ 500 —
i ] BOL -
B 400 B

1000 [~ 1000 [~
- [ | 200 B

_1EDD-|IIII|IIII|IIII|IIII D _15DD_|IIII|IIII|IIII|IIII|IIII|IIII| ﬂ
-100 50 0 50 100 ~30 -20 10 ) 10 20 30

diff_bpmXum diff_bpmdaYium
diff _ diff_ bpmdaY
I I
. = —1ac . " m —{18¢
i l —{18c
10000 | -1 10000 -
: n I = —14(
i —10¢ -
5000 5000 1%
[ A0C |
o &0C 1]
. 400

5000 m =5000
[ n | |
i 200 -

i . i . 200

10000 10000 |-

|IIII|IIII|IIII|IIII D |IIII|IIII|IIII|IIII|IIII|IIII| ﬂ
~100 50 ) 50 100 30 20 10 ) 10 o0 0
difi _bpm1Xum difi_bpmda¥ium
l 'l-
: : —{zac
N —16&( _
3000 3000 | —2¢
- —14c n —{z0¢
2000 2000 |
- " —{18c
- —12¢ -
1000 = n 1000 [~ — 161
- — 100 - 44
o o
. B L
: - a0t : 120

000 - m ~1000 106
- 0t -

2000 | m 2000 9
- 400 n BOL

-aooo | -3000 400
- 200 : -

4000 _anoo - 200
=2 I T N T M N TR T T U N N T N N N o E vl b b b oo bl 0
~100 50 0 50 100 30 20 10 ) 10 o0 0

diff_bpm1Xum diff_bpmdaYium

dlfL d'

: I : I
4000 : oo 4000 : e
3000 - 3000 4
- m - m
2000 —700 2000 -
1000 |- oo 1000 - ot
N 500 n
o b BOC
- 40 -

~1000 ~tpoo - W oI
. 300 N

-2000 -2000 A0
n u 20( n u

~4000 -

oressionm-asvm éﬁhﬂ?ﬁ?ﬁ“ VS

run7016 000 reg;

= —z200
1500~ g =
N —1a¢
1000 | —18¢
[ —{14c
500
- —12¢
0 :_ 100
N 80C
500
! . BOC
B 400
~1000 [~
N N 200
1EDD B | 1 1 | | | 1 | | | I | | | | | | | | 1 ﬂ
~100 _50) 0 50 100
difi_bpmdaX/um
diff_ bpmdeX
I
BE
. e
10000 -
i —10c
- m
5000 oo
ol BOC
- 400
~5000
- u 200
| m
10000 |-
| 1 1 | | | 1 | | | I | | | | | | | | 1 ﬂ
~100 50 ) 50 100
difi_bpmdaX/um
l
: —18¢
3000
- —14c
2000
- —12¢
1000 n
- —100
o
- M 80¢
1000 o
B BOC
2000 n
- 400
3000
- 200
4000 |
3 I T T T T M T A T T A I A O N 0
~100 _50) ) 50 100
difi_bpmdaX/um
diff bpmdeX
: I
4000 F W m —10c
3000
. m —anc
2000
1000 - —g0r
o
~1000 40t
-2000
- u 300
~3000
- m
[ L1 1 1

diff”

" bpm=(

diff_bpmdeY

1500

1000

500

-500

= 1000

=1500

=30

10000

5000

= 5000

10000 —

=20

10 0 10 20
diff_bom4eY/um

—120

—10(

—18(

—16(

—14(

—12C

200

-30

3000

2000

1000

= 1000

= 2000

=3000

=4000

oy

=20

=10 1] 10 20
diff_bpmday/um

diff _bpmdeY

—|24(

—20(

—{18(
—(16(

=141

12(
100
80C
G0C
400
200

-30

9-.

4000

3000

2000

1000

= 1000

= 2000

=3000

OL

g

=20

10 0 10 20
diff_bpmdaY/um

hpméleY

—16(

—14(

—12C

— 100

-20

- POS

10

: m
1500 N m m — 800
B — 700
1000 —
- —B0C
500 N
oF
[ m
=500 N
B 200
=000 — m
: .. m 100
—15DEI_ plv v bvvr s b bevn s b b a by 0
180 =100 =50 0 50 100 150
diff_bom12Xum
diff_ bpm12X
L
B EE —{18(
- —16(
10000 —
- - —14(
5000 —12(

~5000

10000

=4000

i n
O

i - 201

_IlllIIIIIIIIlIIII|IIII|IIII|IIII|II 0

150 -100 -50 ©0 50 100 150

diff_bpm12Xium

— 701
—B0(
—150(

q

b lvvre brv v b rrr brrra v bvv i b
=160 =100 -850 1] 50 100 180
difi_bom12X/um

91

4000

3000

2000

1000

=1000

= 2000

=3000

stpan.png

—16L
- —114(

—1&C

200

v b b v v Panaa Ly 0
—1ED -100 =50 1] 50 100 150
diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7016 000

| —
[ —{14¢
300 —
| - —12¢
. 200
| - —{10(
100 - |
" m ]
- B m B0l
o
- BOC
[ |
100 |-
- 400
200 —
- 200
_3o0
B | | | 1 | | | | | | | | 1 | | | 1 | | | D
-100 50 0 50 100
diff_bpmXum
djfL
I
i - —10¢
000
- —a0t
2000 - -
[ —g0C
[ = |
1000 — -
i 400
ﬂ L
. 200
1000 -
i | | | 1 | | | | | | | | 1 | | | 1 | | | D
~100 50 ) 50 100
difi _bpm1Xum
difL
800 — f— —18(
600 - g | 18t
| -
Capof ® —1ac
| - N
1 [ |
- —12(
200 [~
- 100
ok m
- B0C
B [ |
~200
- BOC
_ap0 -
i 400
600 - 200
_BOD I T T T T T T T T I T T Y I I O I o
~100 50 0 50 100
diff_bpm1Xum
diff bpmlX
SO0 — — —zar
- |
400 u —{22(
| - | 200
300 [ |
. : — 8¢
P20 - —18¢
- =
100 —14
- 12¢
o
- 100
~100 - 800
-200 BOC
- 400
=300 -
- 200
-mn

diff_bpmdaY

diff_bpmdeX

300 |- " 300
N . —{12(
| - —=00 | -
. 200 " . 200
i N , - —{10c
! (= [ — 401 ! _
100 = 100 = |
N C m ] —{800
N m N
N T =
b o
r H n - BOC
B B |
-0 g m -100 -
- - 400
-200 - -200 |
- - 200
~300 [ O _a00 -
B | L 111 | L1 11 | L 1 11 | L 111 | L 111 I L 1 11 | ﬂ B | 1 1 | | | 1 | | | I | | | | | | | | 1 ﬂ
-30 20 10 ) 10 20 30 -100 50 ) 50 100
diif_bpmdaYium diff bpmdeX/um
diff_ diff_bpmdeX
i — —401 i —
m m
i i —{ani
i —{a5¢ i
3000 — 3000 —{800
i —{30¢ i
i i —{700
2000 - —agr 3000 m | e
i u [ | = u
i 200 i
m
1000 1000
= 15[ =
[ 50C [
1000 - -1000 — m
[ | | I | | | I | | L1 11 | | I | | L1 1 1 I L1 11 | {' [ | 1 1 | | | 1 | | | I | | | |
-30 20 10 i) 10 o0 30 100 ) ) mn
difi_bpmda¥ium dlll_h-p-m49}€.fum
d' dlf. f hpll]él-ﬁL
T BOO —
: |70t : —15c
600 600 [ -
I B —{&00 | - —{14(
P 400 ©o4p0p- ™
- - |
S - {500 S O 12
200 300
- - —{100
- . -
= o ]
B u B a0
-200 .... =200~ - &0C
600 600 -
- - = - 200
B ] B
—BﬂD_l""llll'|""|""|""I""l 0 —EDD_l""l""I""l"" 0
-30 30 10 i) 10 20 30 100 50 ) 50 100
diff_bpmdaYium diff bpmdaXium
E{m — 500 —
- - . —{z2r
N —200 N
400 - " 400 - —{20c
| E u —{ 800 | E [ |
o0 300 m —(18C
: n —701 : n
- n —{16(
| so0F } o200 n
- —60C - = — 140
100 100
= o 10
- 400 -
~100 | -100 80
- 30C -
200 200 | BOC
- 200 u
- - 400
~300 =300 =
n 1ol n u 201

resression-reg saml357-vs diff bpm-

aon
C —{20(
| B
. 200
I i —{ 400
1 -
100 |
i 00
o
~100 :— 200
200~ 100
-300 [~ m
B | I | I L1 11 | L1 11 | L1 11 | L1 11 | L1 1 D
30 20 10 0 10 20
difi_bpmdaYium
diff_bpmdeY
B I
[ = —a5(
000 |- 300
B —agg
2000 [~ -
i | | 200
1000 -
- 150
ok 100
i 500
~1000 -
i L1 11 I | I . | | | I .| | | I .| | L1l 1 1 | L1 1 D
_ap 20 10 ) 10 20

diff_bpmday/um

diff_bpmdeY

600 |- —goc
I -
ToAbo —s0¢
oo
200
- 400
o
- a0
— 200 —
i 200
=400 —
_gon |- 10C
i [ ] [ ]
_mn_l||||||||||||||||||||||||||| o
=30 20 =10 1] 10 20

diff_bpmdaY/um

diff_bpmdeY

400

— 700

300

o200

100

-100

=200

=300

'I"'DDIIIIIIIII|IIII|IIII|IIII|III

LZ_phSipanrpng

n n
.']-DD_—
: B —{500
. 200
I [
] - —lanr
100 -
B [ ]
of | 00
_mn:—l 201
200 |-
- 100
-:mn_—
B |IIIIIIIIIlIIII|IIII|IIII|IIII|II ﬂ
-150 100 =50 ) 50 100 150
diff_bpm12X/um
diff_bpmi12X
| L _4{:":
N |
. —la5c
000
i —{30c
2000 1 = —25(
i u u
l 200
1000 -
- 15(
- o
b 10(
| 500
~1000 -
_II|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
150 -100 -50 ) 50 100 150
diff _bpm12X/um
d'
-E-DD_—
B —{70C
'E-I}D_—
' - —50(
" 400 -
| N
! = —50(
200
of
200
~400
-600
—-E-I}D_ clo v b b v v by a b 0

~180 -100 -50 O 50 100 150
diff_bpm12X/um

diff
100

200

400

= —laor
00

e

200

100

=100

=200

-300

“n

v b b v v Panaa Ly 0
-180 -100 50 1] 50 100 150
diff_bpm12X/um




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run7016 000 reg

%

bpm1X

15[;.[]_— Efndf 13.24 /13
[ p0 -1.168 + 1.064
1000 [~
i pl -14.56 + 0.15
300 :_ F-
i e
1] — \
i H
~500 [~ ’4 )
1000 —
: | | | 1 | | | | | | | | 1 | | | 1 | I_ |
-100 50 0 50 100
14000 I
. %2/ ndf 10.86/13
12000
10000 | p0 -1.009 + 0.677
8000
- ) p1 -125.7 £ 01
6000
4000 =
2000 E
oF \
2000 | 5
_ap00 F T
-6000 )
-B000 ]
- | | | 1 | | | | | | | | 1 | | | 1 | | |
~100 50 0 50 100

diff_ bpm1X

¥/ ndf

p0
p1

10.45/13

2.331+% 3.487

7.321+x0.509

o

1]

-500

=1000

=1500

=2000

4000

3000

2000

1000

=1000

=2000

=3000

s
:

Z
=
2

100

¥2  ndf

p1

11.37 /13

po -0.4394 = 0.4672

—43.44 = 0.07

100

[ T, %2 / ndf 24.25 /36
1000 - - “}
- - J,’f+++++ p0 -0.375 £ 0.553
B oy
500 - ) p1 -43.08 £ 0.10
ol
500 N
: a,
: L
~1000 | +er
_lllII|IIII|IIII|IIII|IIII|IIII|
-30 =20 -10 0 10 20 a0
= [ ndf 23/ 36
po -0.6391+ 3.6875
p1 20.78 £ 0.67
o H M_,,/m M
500 { HJFW
o000 F 1
~1500
-2000
_I|IIII|IIII|IIII|IIII|IIII|IIII|
a0 -20  -10 o 10 20 a0
}: { nat 22.97 1 36
#1-
pO 001804 + 0.91579 -
p1 1453+ 0.2
oF
~1000
~2000 -
- 1-"'4+
=3000 = -I“H;#
R
Aooo el o b b e e b bl
30 -20  -10 0 10 20 a0
diff_bpmdaY
}: { nat 2511/ 36
400 i
pO 0.01422 + 1.32942
200 M} p1 —9.489 + 0.244

==

=200

- 400

=
I I I I I I I 1 I I I I I I I 1 I I I I I I
——
1

.|...ggﬂ"'11'a"'1ﬁvs dﬁf

2ressmn asyill Ssaln

E

hpméIgX

diff_bpmdeY

o %2 | ndf 11.73/13 L | %2 { ndf 35.74 [ 39
i - 1000 _— __|_
N p0  -1.094 + 1.049 - ‘ll’fth p0  —0.7019 £ 0.6282
1000 |~ . - ey
- ) p1 -14.87 + 0.14 00~ p1 -415+0.1
500 :— |
i AL“' ok
n:— \ |
E + -500 _ -
~500 [~ tﬂ{ [ ‘Hm-}
- ) - f
I 1000 - J'Hh -
-1000 - -
| _ i '
_I|IIII|IIII|IIII|IIII| |IIII|IIII|IIII|IIIIIIIIIlIIII
~100 _50 0 50 100 30 20 10 0 10 20
14000 I I
- %2/ ndf 17.47 /13 %2/ ndf 345;’39
12000
10000 p0 0.5397 + 0.7541 p0 -1.589 + 3.677
8000
- p1 -116.3+ 0.1 p1 23.86 + 0.68
6000 - LﬁHM _
T
- ES ol
2000 . :
~2000 = “1000 |- }
4000 - . }
~B000 | -
- - - 2000
-BOOO — _ [ -
_I|IIII|IIII|IIII|IIII| -IIII|IIII|IIII|IIII|IIII|IIII
~100 _50 0 50 100 30 20 10 0 10 20
diff_ bpmdeX  diff_bpmdeY
2/ ndf 11.44 /13 ¥2 [ ndf 41.26 /39 )
H
p0 2.711+3.485 - p0 07018 +0.7717 o
p1 12.09 £ 0.48 ﬂ p1 148 £ 0.1
oF /} -
- - VHJF of
-500 [ - - -
- ~1000
“1000 T -
n - 2000 i
=1500 — 3000 E_ _+_,_-ﬂ'+
- L
-2000 | ] -
A B A R B R A B B _WDD'IH|||||||||||||||||||||||||||
~100 _50 0 50 100 30 20 10 0 10 20
diff_bpmdeX iff bpmdeY
- 1000
4000 - - ¥2 / ndf 9.841/13 - = ndf 29.68 / 39
3000 — PO 0.0140%3 + 0.37335 [ p0 —0.4477 +1.3248
n 500 -
2000 - p1 —-41.32 + 0.05 - p1 -10.23 +0.25
1000 " I {}
E o } i -
ol I
- I it
1000 |- . i ) |
E * ~500 -
~2000 ) ,
3000 I }
_ L v oo v bvv v by -H}DD-I—H|||||||||||||||||||||||||||

" bpm-

fit

0

- postpan.png

diff_bpm12X

7=/ nof 39.056/ 36
0 —0.5033 £ 1.0395 -}d
p AT
-+
pi 3.678 £ 0.034
or
200 [ |
a0l - - fw
S
600 [
800 [ }
_1.DUU_|_||||||||||||I||||||||||||||||||||||

=150 100 =50 1] 50 100 150

°1

iff bpml12X

2000 |- - %2/ ndf 38.37 /36
1500 i p0 -3.169 + 3.703
1000 p1 -1.687 £ 0121
500 m l
i

=1000

|

—1ED =100 =50 1] 50 100 150

=1500

=
_||||||||I||||I||||I||||||||||||||I||||I|
Zl-
i

%
E

3000 } %2 { ndf 46.93 / 36
N _ p0 —-0.5986 £ 2.9933
2000 — ~ {M
B +_ W p1 -13.75+£ 010
1000 |- {
of
~1000 A
- 1
—Eﬂ'ﬁlﬂ_— |-+
:||||||||||||||||||||||||||||||||||||

=180 100 =50 1] 50 100 150

dlthpmlzL

72/ ndf 38.05 / 36

p0  -0.9146 + 1.3274 |
p1 1.625 + 0.043 M }

. il
ol [T |
400 f—
600 f— i

|

=150 =100 50 1] 50 100 150




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7016 000 reg

=

di

120

100

£

2

na
=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1

bpm1X

¥2 { ndf 6.643/13
pO —0.4305 + 0.3131

p1 —0.01437 + 0.04573

=
=

i

=z

diff_bpm1X

%= ndf 19.42/13
p0 —0.1946 + 0.3380

p1 0.08751 £ 0.05210

2000

1500

1000

500

I
=
=
[

2

diff_bpm1X

¥2 / ndf 5.726 /13

p0 0.5536 + 0.6301

p1 0.0493 £ 0.0921

200

100

=100

=200

:

I
=
=
[

S

diff_ bpml1X

‘3{2 { naf 6.859/13
pO 01282 = 0.2560
p1 0.02183 £ 0.03745
200 — )
100 - )
0 [
100 —

—

+ _

—

21’ SSlOIl reg_sam

1{:10

%

150

100

=100

°1

2

_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=100

=120

~140

|k

{

Nh

_IIIIIIIIIIIIIlIIIIIIIII|IIII|III

bpmdaY

H#*Mw*m#ﬁ ‘m |

¥Z { ndf 30.94 / 36
pO —0.3307 + 0.3140

p1 —0.04075 + 0.05796

|

|

=30 =20 =10

—_—
JR———

e T

|

iff_bpmdaY

}WMWWHW

0 10 20 30

¥ | nf 3335/ 36
pO —0.2596 + 0.3490

p1 —0.04763 + 0.06368

I

=30 =20 =10

0 10 20 30

diff_bpmdaY

}:2 { naf 33.59/7 36

pO 0.4081+ 0.6315

p1 0.03266 £ 0.11685 |-
T |
o ' *M} -

~50 L

0 E -

~150

~2o0 |

0l o bov o b bv s brr s b |

=30 =20 =10

0 10 20 30

diff_bpmdaY

w2 | ndf 32.39 /36
po 0.1289 + 0.2568
p1 0.0242 + 0.0474

- 1

sl
100
=150 B

I

""'iia"lg"w""""'

%
%

120

100

g

¥/ ndf 2.58/13
pO —0.3938 + 0.3140

p1 -0.01814 £ 0.04311

wwm

=100 -50

1] 50 100

diff_bpmdeX

1 ndf 20.78/13
p0 01773 + 0.3385

p1 0.04521 = 0.04899

2000

1500

1000

500

IN—

=100 -50

1] 50 100

diff_bpmdeX

¥* { ndf 8217713
p0 0.4764 = 0.6325
p1 0.05816 = 0.08720

200 }

-200

ok HLVF""""**H }A -

|

=100 -50

1] 50 100

diff_bpmdeX

IE { naf 743513

po 0.1448 + 0.2563

p1 0.01864 £ 0.03520
200 :—
100 -
ol
_1o0

)

- diff

%

100

2

=

z

=100

bpmdeY

diff_bpm12X

- - ¥/ ndi 55.02 / 39
B { po —0.3331+ 0.3137
[ | pl —0.004339 + 0.058154
i { ) 1

:I L1 11 | L1 11 | | I I | | | I | I | I | | I_I ||

an =20 =10 (1] 10 20

diff_bpmdeY

?.I'I'Idf 4131 739
ol =0 2857 = 0.3495 -
o1 00003557 = 0.0B51727
| T + ‘ﬂ‘
of- Im %%m%ﬁwm |
: t H
_50
=100 -
-l|||||||||||||||||||I|||||||||
=30 =20 =1 0 10 20

diff_bpmdeY

2 | ndf 58.3 / 39
PO 0.3556 + 0.6311 -
pi 0.03675 + 0.11762
1{?0;—
o || Il -
L*H“me |
_5[,;_ - | '
-mnz—
'15'3'3_....|....|....|....|....|....
=30 20 =10 0 10 20

150

100

diff_bpmdeY

¥2 /i 27.449 /36

po ~0.4605 + 0.3139

p1 0.004568 + 0.010200 H -
IR e
T

100 _
_1ED_II|IIII|IIII|IIII|IIII|IIII|IIII|II

=150 100 =50 1] 50 100 150

diff bpmli2X
w2 f ndi 39.72 /36

pd -0.1542 £ 0.3488

pi 0.002013 £ 0.011449

A “W""“' st
I H

=180 -100 =50 1] 50 100 150

diff_bpm12X

i ¥/ ndf 36.62 /39

5 pi 01511+ 0.2569

p1 ~0.006175 £ 0.047883

- {HWWWR

-|IIII|IIII|IIII|IIII|IIII|IIII

-2{) =10

" bpm- f‘i? “postpan.png’

22 ¢ nolf 29.5/36
pb 05774 = 0.6318 f
pl 00008275 = 0.0206760
1-[?[:!;— ) ‘|
o | H| _
o W“H*#*”*““"WWM
-5{;;— i ll )
-mni—
_15DE|_|||||||||||||||||||||||||||||||||||

=180 100 =50 1] 50 100 150

91

iff_bpm12X

e - %2 | ndf 31.82 /36
120
p0 0.05683 + 0.25692
100
80 p1  —0.00293 + 0.00845
B0
40

o

If
{

—15[] -100 =50 1] 50 100 150

ra
=
_I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1
—_—




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

diff_ bpm1X

1500
1000

500

~500

=1000

=100 =) 0 50 100
diff_bpmXum

10000 =

5000

=5000 [~

=100 -50 0 50 100
difi _bpm1Xum

3000

2000

1000

=1000

=2000

=3000

=4000

s
Z
5
2

100
diff_bpm1Xum

a

- — - —
4000 4000
3000 — 3000 f—
2000 — 2000 f—
1000 — 1000 E—
of of
~1000 — ~1000 f—
2000 — 2000 E—
3000 — 3000 f— |
- | -

100

1000

500

=500

=1000

B | L 111 | L1 11 | L 1 11 | L 111 | L 111 | L 1 11 |
=1500 -30 -20 -10 0 10 20 an
diff bpm4aYium

10000 =

5000 —

=5000 —

10000

I T SN RN AR NS FEEEE
-30 -20 =10 0 10 20 30
diff_bpmda¥ium

3000

2000

1000

=1000

=2000

=3000

=4000
plvv e tvv v bvvv b v b aa
20 =10 1] 10 20 a0

diff_bpmda¥ium
diff

% IIIIIIIIIII|IIII|IIII|IIIIIIIIIIIIIIIIIII

run7016 000 regression-asym saml357 vs

1500

1000

500

- 500

=1000

~100 _50 0 50 100
diff _bpmdeX/um

10000 =

5000

=5000 [~

=100 -50 1] 50 100
diff_bpmdaX/um

3000

2000

1000

=1000

=2000

=3000

~4000

L
:
.
=

100
diff _bpmdeX/um

E

4000

3000

2000

1000

=1000

= 2000

=3000

_WD | 1

Z

100

bpm=sca

diff_

1500

1000

500

-500

= 1000

| I | | L1 11 | L1 11 | L1 11 | L1 11 | L1 1
- 5093& -20 -10 0 10 20
diff_bpmdeY/um

10000 =

5000

=5000 —

10000 [—

A T T T T T A O B O
=30 20 =10 0 10 20
diff_bpmdea¥ium

3000

2000

1000

= 1000

= 2000

=3000

=400

I I B O A B O B O A O AN B A B A A

=30 =20 =10 1] 10 20
difi_bpmdaYium

diff_bpmdeY

4000

3000

2000

1000

= 1000

= 2000

=3000

Crv e v P P P ba g
_4D093ﬂ -20

t postpan.png

1500

1000

200

- 500

=1000

11 | 1111 I 1 111 | 1 111 | 1 111 | 1 111 | 1111 | 11
“1800 T e Cioo -s0 D 50 100 150
diff_bpm12X/um

10000 =

5000 —

=5000 —

10000 —

v by by by b Loy g L
=150 100 =50 0 50 100 150
diff_bpm12Xium

3000

2000

1000

=1000

=2000

=3000

=400
b lvvre brv v b rrr brrra v bvv i b
=160 =100 -850 1] 50 100 180

diff_bpm12X/um
diff

4000

3000

2000

1000

=1000

= 2000

=3000

el b by v b Panaa g
=4000 -180 -100 50 1] 50 100 150
diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7016 000 regression-re

300

200

100

=100

=200

:

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

s
Z
5
2

diff_bpmXum

diff_bpm1X

3000
2000

1000

1000 —

100

=100 -50 0 50 100

difi _bpm1Xum

600

200

=200

~400

-600

-B00

s
Z
5
2

diff_bpm1Xum

:
E

500

400

300

o200

100

-100

=200

=300

100

~400

300

200

100

=100

=200

=300

30 -20 10 0 10 20 30
diff_bpmda¥ium

diff_bpmdaY

3000
2000

1000

=1000

=30 =20 =10 1] 10 20 30
diff_bpmda/um

G600

T400

200

=200

- 400

=600

v v vvr b rr v b v bv v b |
~800 55p -20 -10 0 10 20 a0
difi_bpmdaYium

500 — — 200

: 400 E— 400 E—
f 300 - ' 300 -
b o200 f— i 200 f—
mnf— mnf—
oF . oF
-1*3'03— -mnf—
_zm:uf— -EDDE—
300 a0 F

sam1357-vs diff

300

200

100

=100

=200

:

—
=
=

3000

2000

1000

diff_bpmdeX

_50 0 50 100
diff _bpmdeX/um

600

200

=200

~400

-600

-50 1] 50 100
diff_bpmdaX/um

-800

—
=
=

_50 0 50 100
diff _bpmdeX/um

" bpm-scat

300

200

100

=100

=200

=300

|
=
ra
=
[
—
=
=

3000

2000

1000

=1000

10 20
diff_bom4eY/um

=30 =20 =10 1] 10 20

600

200

=200

~400

-600

-B00

diff_bpmday/um

=30 =20 =10 1] 10 20

500

400

300

o200

100

-100

=200

=300

—MD

diff_bpmdaY/um

-m

tpan pn’g"

300

200

100

=100

=200

=300

| | 1111 I 1 111 | 1 111 | 1 111 | 1 111 | 1111 | 11
~150 -100 -50 O 50 100 150
diff_bpm12X/um

diff_bpm12X

3000

2000

1000 —

=1000

b b by bvra b b aa b
=150 100 =50 0 50 100 150
diff_bpm12Xium

600

T 400

200

-200

-400

- 600

plvvre bvvvar bvrrr brvra br v tvv o b
~500 —15D =100 -850 1] 50 100 180
difi_bom12X/um

200
400

300

e

200

100

=100

=200

-300

~400 I|IIIIIIIIIlIIII|IIII|IIII|IIII|II

-150 -100 =50 1] 50 100 150
diff_bpm12X/um




